TotalMarks:.... Class:10th Time:

Test:Chemistry

Attempt ......... questions

1 S~ ey J
Which one of these is a saturated hydrocarbon? il /K’M‘{l’%/@/u[
a)C2H4 b)C2H6 2)C2H4 b)C2H6
¢) C4HS8 d)C5H12 ) C4HS dC5H12

? The reducation of alkyl halides takes place in the ?‘L&ﬁ - JJKY‘ U «ff hn$I% e S
presence of:
a)Zn/HCI b) Na/HCI a)Zn/HCI b) Na/HCI
¢) Mg/HCl d) Cu/HCI o) Mg/HCI d) cu/HCl

’ Halogenation of methane one the presence of -‘édﬁ ﬁ skt J d.j‘: - & DIy’ U( Loy
diffused sunlight takes place: _
a)Onlyinonestep b) Slowlyinonestep  a) (£ , L3 b) Ldﬁfui&/.{!
¢) Fastly in two steps d) In a series of four steps ¢) U f1 foe(§7 d) uﬁz,/d/‘fl//[g

4 Which one is also called olefines: _‘Lt‘lkv(f/?;d;ll,ﬁ/;uﬁw
a) Alkanes b) Alkenes o /1(' b) ﬂf, Allcstias
c) Alkynes d) Alcohols J7 i Q) ]

5 7 v . - . &0 “-.
Which one of the following compounds 1s,not uf’h,lfw/cuﬁd:ew‘*—u” J’&wa
produced by the halogenation of methang? o(x
a) CCl, b) CHCI, a) CCl, b) CHCI,
¢) CO, d) CHCY ¢) CO, d) CH,C1

6 Which hydrocarbon hasata{gffect on an aqueous gé/ﬂﬂ/u‘;}l’ujﬁj édzﬁ/.d/@ub/’QUJ/
solution of bromine: :

a)CH, b)C H,, a)CH, b)C, H,,
C)C2H2 d)C2H4 C)Csz d)CzH4
7 s r oLz e
Boiling point of alcohol in centigrade is: ?aé‘ﬁ/f;” af"‘”ij"‘a I KJ"JJ/’
a) 68 b)78 a) 68 b)78
c)118 d) 128 118 d) 128
® Which is the substitution reaction in the following? T gfg Nt LJL?U/ eSS
a) Halo genat‘ion of alkenes a) u”/: Gk U( /,“f,
b)Halogenation alkynes b)u%: L/U.? A
¢) Bromination of alkene &) TE S J /{.(’
d) Halogenation of alkanes. 4 J‘: Goske J /1(1
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